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000m3 AT ;
A 220 m3
T/ FrEidRE
PEHI L (ICT) = 1 1,392,991 |#EHI(ICT) 3,330 m3
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A
HEHEI (ICT) 220 m3
T/ FrEidRE
BEARRE AT = 1 435,819 | BEIR (FEEE) ikt 80 m3
2. 5mAT ;
PR (B5E8) S 1 70 m3
2. 56mPL 4. OmATi ;
EuNE R 80 m3
(i E M L)
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AR T (ICT) =X 1 155, 740 | B&{A (ZL82) % 1= (ICT) 650 m3
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PEHI L (ICT) = 31,203 | #EHI(ICT) 90 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
AR
IR = 4, 864, 750
fliAE T = 4,234,350 |HEAT b 1,480 m2
Fit7e L ;
ANTHEZ 150 m2
U7 (L) ;
NI 2 630,400 |5& AT 40 m
(ABSLAND)
P8 120cm B 50cm PEEREL = X50cm X &
120cm EIZEA 15cm~20cm ;
PEEET 2 18, 520, 290
EELT = 763, 373
VAT VAR TR B T (AR 77 ) |50 15, 180, 945 |V A7 AIAWBE A HELST - 2R T 267 m2
VATV 1, 682 m2
FEHL -HBHL, MED 1,100 m3
AL ;
HAEHKE 136 m3
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VTR A VAR L BE T (S (77) | K 1 2,575,972 |V AT AN VEE BT REST - 3% 1 77 m2
VAT A VIR 419 m2
FEHL -HBHL, MED 220 m3
wmAt
A HKE 41 m3
C-40 ;
By 20 m
t10 W=300 ;
TREHEARES - W HE UBA 44 140 m2
HEKE #EE 22 m
(15 FHEKIE)
HFIE B 150mm ;
HEKE #EE 6 m
(25 H FHEKIE)
MALE ER 150mm ;
-7 my)FE (3R T = 1 7,573,942
e+ T 2 1 272, 062
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$235¢cm ;

Bl HT Rbiav - 70 m
(15 Rgavy)-h)
18-8-40 (&)

NI L = 1 573,800 |5&AMNT 38 m
@HFSEAND)

8 120cm B 50cm Ar—7 2 5 &50em X

TE120cm EIZE A 15cm~20cm ;

HEKHEY) T Y 1 2,276,142

BT = 1 195, 640

AR T = 1 1,649,932 |7 VEyANUBMRNE 130 m
(PU3-B300-H300)

7" Vv A NUBRMAITE: 24 m
(157" VR A NUZRURITE)
B300-H300 ;

LKk vt T = 1 153,800 | HLIGHT H AR 2 & AT
(1SR
BUSHTHAT 18-8-40 GadF) 1R fEEMIEEE ;

ES 2 &
v &)
T-14 B500-L500 3 B & WMEE ;

BT L Y 1 276,770 | BUSFTKEK 4 m
(1 5B FI7KEE)
B300 H400 18-8-40 (&¥F) ;

BUGFT K 3 m
QFBGFIKEE)
B300 H400 18-8-40 (F¥F) ;

e 4 He
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HEYE T Y 1 22, 895
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REVEITUE LT = 1 16, 168 |2/7)-MEEWEUE L 1 m3
MEAHARETEY) FEAOE T
E A IR B M 7 m
TAT 7V MEHEERR 15emPA T
A IR A 5 m2
TAT 7V MEREE R EHEERR)E b e m ;
TE LB T =Y 1 6, 727 | BOEH 0.3 m3
TAT7IV NS
IR 1 m3
/)~ hik (4%
LGy 0.3 m3
TAT7IV NS
RISy 1 m3
/) -hik (E4%)
RE% T = 1 2,007, 360
AEEHE T Y 1 2,007, 360 |A3W kB YE 5 1 =
B (Bff)
[ERE ALy = 1 67, 598, 681
HiE 2 2 1 7,920, 902
Hom it = 1 1, 796, 902
HeffrE sy 2 1 1,178,902 |{R5FEHL(ICT) 1 =
YATLRIE 2 (ICT) 1 F2
BGRESCGES (5 1) = 1 618, 000
B (FEHL) = 1 6, 124, 000
fli T = 1 75, 519, 583
Bl gy 2 1 20, 970, 000
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— e PR A E20 1 15, 120, 417
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